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= X 4 5 | Timho0EEE NDOKRES X 4 TIwALDKE | B ADKRES X 4 =% | timdodkE ADKES R 4 EEHho0lS | B ADKRES
(m) (m) (kN/m) EEdf(m) (m) (kN/ ) (m) (m) (kN/ ) (m) (m) (kN/rr)
; 100kN/M%#8%2 5| 1.00| 000 ~ 181 131.44 |3mZEBREH — ~ — — — | 100kN/mMi%#Z25 | 1.00 | 1261 ~ 2346 131.44 |3mZi#BZ3 - ~ — — —
Th st 100|181 ~ 849 100.00 | Fhds | 000 ~ 849 | 2.84 12.52 Th st 1.00|5.00 ~ 1261 100.00 | ®hLS | 5.00 ~ 2346| 2.84 12.52
2 100kN/m%#8Z%| 100|000 ~ 089 115.03 |3mEBZB| — ~ — — — | 100kN/mMi%#Z5 | 1.00 | 1378 ~ 1943 115.03 |3mZi#BZ3 -~ - — —
Th st 100|089 ~ 757 100.00| FnLs | 000 ~ 757|228 10.02 Th st 1.00|5.00 ~ 1378 100.00| FhUS | 5.00 ~ 1943|228 10.02
3 100kN/M%#8 % % — -~ = —|3mEBZB| — ~ — — — | 100kN/Mi%#Z % — - ~ — —|3mZEBZ 3 - ~ — — -
st 1.00 | 000 ~ 514 75.58 | #n S | 000 ~ 000|172 7.59 zhnLs 1.00 | 5.00 ~ 825 75.68 | TnLS | 600 ~ 825172 7.59
4 100kN/M%#8 % % — -~ = —|3mEBZB| — ~ — — — | 100kN/Mi%# %% — - ~ — —|3mZE#BZ 3 -~ — — -
Th st 100|000 ~ 353 5219 | #hst | 000 ~ 353|214 9.43 Th st 100|500 ~ 610 5219 | =hst | 6.00 ~ 610214 9.43
5 100kN/M%#8 % % — -~ = —|3mEBZB| — ~ — — — | 100kN/Mi%# %% — - ~ — —|3mZE#BZ 3 - ~ — — -
Th st 100|000 ~ 470 68.87 | TnLS 000 ~ 470|211 9.29 Th st 100|500 ~ 847 68.87 | =hLS | 6,00 ~ 847|211 9.29
6 100kN/m%#B25| 1.00| 000 ~ 218 138.24 |3m%EHBZ 5| 0.00 ~ 050 3.30 14.54 | 100kN/mM%#EZ D | 1.00 | 1283 ~ 27.76 138.24 |3mZE#BZB| 2500 ~ 2776 | 3.30 14.64
Th st 100|218 ~ 886 100.00 | Fhst | 050 ~ 886|300 13.20 Thst 100|500 ~ 1283 100.00 | Thst | 5,00 ~ 2500 3.00 13.20
7 100kN/m%#BZ5| 1.00)| 000 ~ 1.65| 12849 |3mZEBZB| 000 ~ 095|568 16.19 | 100kN/mM%E#BZ2 | 1.00 | 1574 ~ 2847 12849 |3mZE#BZD| 2000 ~ 2847| 3.68 16.19
Th st 1.00 | 1.65 ~ 833 100.00 | =hst | 095 ~ 833|300 13.20 ZzhnLst 1.00 | 5.00 ~ 1574 100.00 | =ns | 5.00 ~ 2000| 53.00 13.20
g 100kN/m%#BZ5| 1.00 | 000 ~ 2841 | 150.92 |3mZEkBZS| 000 ~ 287|463 20.36 | 100kN/m%E#8Z2% | 1.00 | 1385 ~ 5379 150.92 |3mEBZD| 2000 ~ 5379 | 4.63 20.36
Th st 100|281 ~ 953 100.00 | Fhblst | 287 ~ 953 8.00 13.20 ThList 1.00|5.00 ~ 1385 100.00| FhUS | 5,00 ~ 2000| 53.00 13.20
9 100kN/m%#B2%| 1.00 | 000 ~ 288 151.64 |3mZEFBZB| 0.00 ~ 284 | 4.59 20.20 | 100kN/m%#8%2% | 1.00 | 1365 ~ 5469 151.64 |3mZE#BZ 3| 2000 ~ 5469 | 4.59 20.20
Th st 1.00 | 288 ~ 9.56 100.00 | =Sy | 284 ~ 9.56 | 3.00 13.20 s 1.00 | 5.00 ~ 1365 100.00 | =nsS | 5.00 ~ 2000| 3.00 13.20
10 100kN/M%#8%25 | 1.00 | 000 ~ 294 1562.90 |3m%EFBZB| 0.00 ~ 266 | 4.40 19.37 | 100kN/m%E 825 | 1.00 | 1289 ~ 5612 15290 |3mERBZB| 2500 ~ 5612 | 4.40 19.37
Th st 1.00 | 294 ~ 9.63 100.00 | =nSY | 266 ~ 9.63 | 3.00 13.20 s 1.00 | 5.00 ~ 1289 100.00 | =nS | 5.00 ~ 2500| 3.00 13.20
100kN/M%#8 % % ~ ImEHBAD ~ 100kN/M%Z#B % % ~ 3mERZD ~
Zh st ~ Zh s ~ Zh s ~ Zh st ~
100kN/M%#8 % % ~ ImEHBAD ~ 100kN/M%Z#B % % ~ 3mERZD ~
Zh st ~ Zh s ~ Zh s ~ Zh Lot ~
100kN/MZ#8 % % ~ ImEHBAD ~ 100kN/MZ#B % % ~ 3mERZD ~
Zh st ~ Zh s ~ Zh st ~ Zh st ~
100kN/MZ#8 % % ~ ImEHBAD ~ 100kN/MZ#B% % ~ 3mERZD ~
Zh LSt ~ Zh s ~ Zh st ~ Zh st ~
100kN/MZ#8 % % ~ ImEHBAD ~ 100kN/MZ#B % % ~ 3mEZD ~
Zh Lot ~ Zh s ~ Zh s ~ Zzh st ~
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